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On the Application of Laplace Transform to the Dynamical Vibrations,

Beam Problems, Integral Equations and etc, (No.4)

Transverse Vibration of Beams (])

Takio MOCHIzZUKI

Abstract

Continued from the 3rd report this offers a few illustrations and the results of calculations
obtained from problems of the transverse vibration of basic beams (simple beam, cantilever, fixed
beam) subjected to uniformly distributed loads and couples such as a periodic load wosinwt, an
impulsive one Mou’(t), and a rapid one Mo u(t) and so forth.

Passing all the calculations of residues (Report No. 3, No. 4) in review, one of the most important
results acquired is the fact that no double poles appeared through these calculations.
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a: a piriodic load b :an impulsive load c¢: a rapid load -
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